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No. of Questions : 150
e B §@T 150

Time : 2 Hours ] [ Full Marks : 450
Y : 2 HU2 | [ goife : 450

Note : (i) Attempt as many questions as you can. Each question carries 3 (three)
marks. One mark will be deducted for each incorrect answer, Zero mark
will be awarded for each unattempted question.

ATPIE oAl BT TA B B UG ] The ¥y 3 {F) o @ T
TRIE T FO% @ [0 §F A FIeT R URAT SRR ¥eH B U
= 8|

(ii) If more than one alternative answers seem to be approximate to the correct
answer, choose the closest one.

R vEie Ifeas SR w8 SR P Fwe w7 &, @ Feea af s €
1. The founder of the Samkhya systemis:

(1) Kanada (2} Kapila (3) Isvarakrsna {(4) Vijnanabhiksu
Hiem T3 P uOT §
(1) Pomg (2) P (3) $xaRpw (4) fammivg
2. Samkhya philosophy is:
(1) dualistic (2) non-dualistic (3) theistic (4) pantheistic
e G B
(1) gemary (2) srgerard (3) FTaRamE] (4) |vERarE
3. According to the Samkhya, Prakriti is :
(1) cause only (2) effect only
(3} both cause and effect (4) neither cause nor effect

P.T.O.
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Wi S99 & SER Wi 1§
(1) Haq HRO
(3) &R N B g

Purusa according to the Samkhya is :
(1) causeonly

(3) both cause and effect

|E S99 F AER ToY § ¢

(1) B9 PRI

(3) BRI R HE T

Purusa according to the Samkhya is :
(1) agent

(3) knower and experiencer

Al a2 P SR 9o ¥

(1) i

(3) T wT e

(2) DI B
(4) 9 DRI, ¥ B

(2) effect only
(4) neither cause nor effect

(2) ¥t I
(4) ¥ IR, 9 BA

(2) agent and knower
(4) agent and experiencer

(2) w1 Tu R
(4) w7 AT A

Which of the following gunas is responsible for action according to the

Samkhya philosophy ?
(1) sattva
(3) tamas

(2) rajas
{(4) rajasand tamas

|iem g & oger F=faiea 4 9 o 7o v @1 oRe 2 7

(1) &=
3) TS

Creation according to the Samkhya is :
(1) cydlic (2) linear

W g9 F AgHR gie 7

(1) = (2) T

The Samkhya believes in :

(1) satkaryavada and Vivartavada
(3) svabhavavada

[iE i fAears S ¢

(1) weriars o fdaddarg 4

(3) TuEaTg |

(2) <=
(4) =9 R T

(3) mechanical (4) purposeless

(3) =f® (4) STRTTEN

(2) arambhavada
(4) satkaryavada and parinamavada

(2) aIdTaTg A
(4) IR 929 IRMaE 3
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The world according to the Samkhya is :

(1) unreal {(2) both real and unreal
(3) real 4) illusory

e Y B SRR I 8

(1) 3mq (2) ¥ iR sra T
(3) wq (4) o

According to the Samkhya Purusa is liberated when it has:
(1) knowledge of the falsify of the world

(2) knowledge of the falsify of prakriti

(3) knowledge of difference

(4) knowledge of non-difference

A $ AR o9 09 Jad 8 W1 2 99 99 ¢

(1) g 3 Roree & 99 8 @

(2) "Ry & feara &1 9 B/ B

(3) WY BT R

(4) e BRI ¥

The propounder of the Yoga philosophy is :

(1) Kapil (2) Vatsyayana (3) Patanjali (4) SwamiRamdeva
AT I P O T

(1) ®fa (2) T (3) wrivtfer (4) QT IRa
The meaning of Yoga according to Yoga philosophy is :

(1) man’s relation to God (2) cittavritinirodha

(3) moksa 4) realization of Brahman

INT TEF & WFER QT BT et B

(1) ¥99 37 $TR ¥ g 2) RrgRitRy

(3) ARY (4) 981 o W

Yoga philosophy believes that :

(1} God is a special person (2) God creates the world

(3) God grants moksa {(4) thereisno God

(3) P.T.O.
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14.

15,

16.

17.

18.

19.

T g3 A § &

(1) $ea qoufad 3 (2) FR oo &

(3) S¥R AT € (4) deax W T T B

The number of afflictions enumerated in the Yoga philosophy is :

(1) three (2) six (3) four (4) five
4FT 399 A e ) ol @t e

(1) 9= (2) v (3) IR (4) dr=
The number of cittabhumis according to the Yogais:

(1) two (2) eight (3) five (4) six

N7 X B oA Rl 1 W@ 2

1) = (2) =S (3) U= (4)
"Mudha' according to the Yoga philosophy indicates :

(1) afool (2) amad person

(3) akind of pain (4) a state of mind

AT T ¥ g @ ot &

(1) 9o 7= (2) urTel eafd

(3) T BT & PR (4) e 31 Tw g

The propounder of the Nyaya philosophy is :

(1) Gautam (2) Kanada (3) Udayana (4) Kapila
=15 39 P ORI &

(1) = (2) @on= (3) SgF @) »few
The Nyaya philosophy is :

(1) monistic (2) dualistic (3) pluralistic (4) non-dualistic
= 99 B

(1) T TIarE] (2) EeraTR (3) Fawaardl  (4) SGaarR!
The Nyaya philosophy is: |
(1) realistic (2) idealistic (3) pragmatist (4) subjectivist
=T T9E T

(1) aegarat (2) VITaTE (3) rifpamars (4) ST
(4)
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God of the Nyaya philosophy is :
(1) material cause of the world
(3) both (1) and (2)

= 79 BT gER B

(1) S 3T SURH BRI

(3) (1)@ 2)

11P/229/30

(2) efficient cause of the world
{4) neither (1) nor (2)

(2) smq &1 AT R
(@) Fa@(L),TE Q)

Consciousness according to the Nyaya philosophy is :

(1) essential attribute of self
(3) the same as self
I T B AN o

(1) o7 FT I [OT B
(3) 3w &

(2) accidental attribute of self
(4) independent of self

(2) SIFHT BT IHRAD T B
(4) T W WHF &

Which one of the following is not held by the Nyaya philosophy ?

(1) unreality of the world

(3) atomism

(2) reality of the world
(4) spiritualism

I g9 fAefaRa | @ fpe 7287 sy ?

(1) SFTq &7 STt
(3) GAvEATE

(2) T B IRAAH
() IEaTHAE

The soul according to the Nyaya philosophy is :

(1) material and unconscious
(3) spiritual and unconscious
G T P AFHR AT B
(1) #fo® g srEae

(3) sTRATRAS Tl S

(2) spiritual and conscious

(4) material and conscious

(2) smUf® qer dad
(4) WP T A9H

The Nyaya theory of causation is known as :

(1) svabhavavada (2) vivartavada

(3) parinamavada (4) arambhavada

= &9 BT SRy Riga e v § o on §

(1) T VARRGEREIE

(3) TRUMaR (4) IRTAR

P.T.O.
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25. The Nyaya theory of error is known as

(1) anyathakhyativada (2) viparitakhyativada
(3) akhyativada (4) satkhyativada
w1y 299 & yR-RIghT ®) w8 W@ ¥

(1) rgureiiary (2) fgenarE

(3) sranfars (4) FEoas

26. According to the Nyaya philosophy when the soul is liberated, it knows that :
(1) the world is unreal
(2) itis one with God
(3) it is pure consciousness
(4) it has no relation with mind - body complex
g T B ATAR oG AT Ga7 8 Wk 8, A 98 oiar 8 {6
(1) P & 8
(2) 98 SR B WY UHeY §
(3) 98 Y& dqaW T
(4) SHPT F-2NR TR § P G99 T8 5

27. Which one of the following pramanas is not accepted by the Nyaya ?

(1) sabda (2) anumana (3) upamana (4) arthapatti
g Fefefaa # @ 5w g9 =) o 787 o ?
(1) ¥ (2) sFHE (3) SUHH (4) gl
28. Pot is nameable because it is knowable - this according to the Nyaya is an
example of :
(1) kevalanvayi inference (2) kevalavyatireki inference
(3) anvaya-vyatiriki inference (4) samanytodrsta inference
“ge T T /fF 78 30 F - WY @ FIER IT fHEeT SR § 7
(1) Haar=d S B (2) FIAACRBT FFA BT
(3) IY-TRND! AT &1 (4) AEFOAET A BT

29. According to the Nyaya in the relation between smoke and fire :
(1) smoke pervades fire (2) fire pervades smoke

(3) both pervade each other (4) none pervades the other
(6)
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R SO ® SgER el T AT @ 9 Hey 7

(1) gaft sy &Y sy &war B
(3) Tl TH g B A S §

(2) &1 g & ;T FRA T
(@) B TF TR B AT TEl

According to the Nyaya vyapti is a relation between :

(1) sadhya and paksa
(3) hetu and sadhya

T T D ATAR A dae g §

(1) 99 9= ger |
(3) = T aey ¥

(2) paksa and hetu
(4) paksa and vipaksa

(2) weT 7T TG A
(4) T o fauer #

11P/229/30

EasGl

Which one of the following is not included in the prasthanatrayi of the

vedanta ?
(1) Srimadbhagawadgita
(3) Upanisads

(2) Srimadbhagavata
(4). Brahmasutras

g By o fefife 9 o e qEFE e

(1) AT
(3) Sufeg

(2) ey
(4) wEREA

Which one of the following is not accepted by Sankaracarya ?

(1) reality is one

(3) Brahman is the reality

(2) atman is the reality
(4) Saguna God is the reality

o # 9 -9 SRy B e FEE ?

(1) 9% 8
(3) ¥ Eq B

The world according to Sankaracarya is :

(1) real

(3) both real and unreal
SPRTEd B FTAR TG ©
(1) 19

(3) W SR T

(7)

(2) e oq ®
(4) T R Wq T

(2) unreal

(4) neither real nor unreal

(2) s
(4) ¥ 97 ¥ I

P.T.O.



11P/229/30

34. According to Sankaracarya knowledge is :
(1) intrinsically invalid
(2) intrinsically valid
(3) extrinsically valid
(4) intrinsically neither valid nor invalid

YEER B ATAR FH 8
(1) st: SFsFreT (2) @@ ST
(3) R WA (4) <& | THE©T, T HAET
35. The path of liberation according to Sankaracarya is :
(1) bhakti (2) karma
(3) jnana ' {(4) jnana and karma
T B FTER Aet B AR |
(1) wRRY (2 T4
(3) = (4) 9 3R A
36. Sankaracarya believes in:
(1) videhamukfi and kramamukti (2) jivanamukti and kramamukti
(3) jivanamukti and sadyahmukti (4) videhamukti only
YiH=TEa A B
(1) vy wen g (2) oiraTfan T wfe
(3) Shrawgfam o wergfa ) fvegfa Haw
37. Ignorance according Sankaracarya is
(1) negative (2) positive
(3) both positive and negative (4) eternal
TPRER B FTIR = 2
(1) 3rmasy (2) HEEq
(3) WIISY TAT IFAERT QAL (4 =
38. Moksa according to Sankaracarya is :
(1) absence of pain (2) produced by knowledge
(3) unattained before knowledge (4) eternal
IEEE B AR A
(1) QMg (2) I | U=

(3) T & UgA Iy @ F
(8)



39.

40.

41.

42.

11P/229/30

According to Sankaracarya the brahman has :

(1) no difference (2) svagata difference
(3) sajatiya difference (4) vijatiya difference
TAREE @ ITAR Fol -

(1) P % 781 & (2) T 9T

(3) HIiT ¥ (4) Rorha 95 3
Which one of the following is vyavaharika satta according to Sankaracarya ?
(1) Brahman (2) Objective world
(3) dream world (4) sky-flower
Wl § gaR Frefafed 4 4 9N @eeie w7

(1) &= (2) IF S

(3) T ST (4) STIR-TYA

The existence of self according to Sankaracarya :
(1) cannot be proved

(2) can be proved through inference only

(3) can be proved through sruti only

(4) is self proved

IHRTETd B TR HAHT Pl T

(1) g 7 * 57 GHdl

(2) @ad o 9§ g # o ged §

(3) daa gfo ¥ g B w1 G 2

(4) ¥ R ©

Knowledge according to Samkaracarya is :

(1) a quality of mind (2) an activity of mind

(3) an activity of intellect {(4) object dependent

THE T IR T

(1) 59 %1 01 8 (2) 77 T fobar B

() g e 4) TwIET &

According to Ramanuja the relation between cit and God is one of :

(1) Samyoga (2) Samavaya (3) aprthakasiddhi (4) abheda

(9) P.T.O.
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44,

45.

46.

47.

48.

49,

TS B IR g qur v H dew

(1) =ar (2) wRag (3) IqTmNlG (4) g

The God of Ramanuja has :

(1) sajatiyabeda (2) svagatabheda (3) nobheda (4) vijatiya bheda
IFAE D TR A B

(1) FooT 95 (2) @ AL (3) @€ 9T 9E (4) oo wg

Ramanuja believes in :
(1) videhamukti and kramamukti (2) jivanamukti and sadyahmukt
(3) videhamukti and sadyahmukti (4) jivanamukti and kramamukti

TS AT B

(1) fReglk R wERa (2) wiafE IR aEgfE
(3) T ok Feaf (4) STy el Fgf

Creation according to Ramanuja is :

(1) unreal (2) real

(3) both real and unreal (4) neither real nor unreal
RS $ AER gie F

(1) & (2) B9

(3) W, are Xl (4) 9 Q. 7 3

Ramanuja believes in :
(1) vivartavada (2) parinamavada (3) svabhavavada (4) asatkaryavada

RMS 7 8

(1) RadaR (2) yRemmarg (3) wwmEER (4) SHIIATE
According to the Bhagawadgita the varnas have been created by :

(1) Manu (2) the Vedas {3) God himself {4) Brahmins
g iial @ STaR TR g0t A e o = §

(1) 59 R (2) 3T g (3) wd e g1 (4) Wl gRT

According to the Gita the purpose of God's actions is :
(1) to fulfil his own desires

(2} to please the people of the earth

(3) to give men the fruits of their actions

(4) welfare of society

(10)
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e & gER $¥R & ¥ B T B
(1) W& arg-it oo g8 IR (2) 9 & A B gF I
(3) @M B ST® BRI BT B 4) ApHTE

Which one of the following is called the fifth Veda ?

(1) Mahabharata (2) Bhagawatpurana

(3) Ramayana (4) Vyakarana

iR A P dem | s T & 2

o HEHIRT (2) HHTEAYRTT (3) I (4) =FR
The concept of Adrsta is associated with :

(1) Mimamsa (2) Jainism- (3) Nyayavaisesika (4) Buddhism
T B JFRON fFad Hela 2 ?

(1) Hrwren (2) o9 =99 @) IE-RE @) dg 9=
The concept of Apurva is associated with : |

(1) Carvaka (2) Jainism (3} Buddhism (4) Mimamsa
qd BN srayRen e wafta § 7

(1) =mafes (2) S (3) s (4) A
Jaimini is associated with :

(1) Advaita Vedanta (2) Samkhya

(3) Mimamsa {(4) Nyaya

Sfaf ey <& 2

(1) @13 dqsia (2) = (3) e @) ™

Which one of the following, believes that the purpose of the vedas is to employ
men in action ?

(1) Samkhya (2) Nyaya (3) Yoga (4) Mimansa
e & | @1 a7 8 5 391 @1 wekem wgs o fhar ¥ waw s 7
(1) &= (2) =g (3) arT (4) Hrera
"Knowledge is intrinsically valid" - this view is held by :

(1) Nyaya (2) Buddhism

(3) Mimamsa (4) Nyaya and Carvaka

"SI W T -39 A9 @Y A ¥

(1) = () g (3) A (4) =g/ T Aaie

(11) P.T.O.
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56.

57.

58.

59,

60.

Sankaracarya believes in :

(1) akhyativada (2) anirvacaniyakhyativada

(3) anyathakhyativada (4) viparitakhyativada

Yo A R

(1) srEiyar 2) fdefaemias

(3) g (4) Rdsenfar

faina philosophy is :

(1) realistic (2) idealistic (3) monistic {(4) non-dualistic
9 T

(1) TR (2) wararey (3) ThHaxGare! O EREIE

Jainism believes in anekantavada because reality is:

(1) one (2) many

(3) both many and one (4) momentary
I sEwTaTE ¥ fiwary avn & il e

(1) T & (2) sw B

(3) & aM 3T q (4) @t 2

Jainism believes that reality is indescribable because :
(1) itis permanent

(2) itis changing

(3) it is neither permanent nor changing

(4) it is both permanent and changing
9 TEW W B T uq s & 9l aw

OREE (2) g ?

(3) 7 frw & w1 s 4 T aur st <At 2
Which of the following schools of Buddhism are realists ?

(1) Sautrantika and Vaibhasika (2) Vaibhasika and Sunyavada
(3) Sautrantika and Sunyavada (4) Vaibhasika and Vijnanavada
g T B Frfefiad wnemt ¥ @ B9 gard ¥ ?

(1) |Eifae aen e 2) IR T TR

(3) AR g TUErR @) e qor s

(12)



61.

62.

63.

64.

65.

11P/228/30

Which one of the following is a feature of 'dharma' according to Jainism ?
(1) itisa quality of jiva

(2) itis self active substance

(3) it moves other substance to action

(4) itishelpful in the conduct of action

O T B SR FEOReT § W BN 9 o G § 7

(1) | TF U 3 (2) 45 vaa: frarda g

(3) 9T I A B A T ® (1) 9% fhw @ Waew 9 e ¥

When the karmapudgals enter the soul, that stage is called by the Jainas

(1) asrava (2) bandha (3) nirjara {4) samvara
WY PAYGTA A ¥ 599 T € 99 e & S 7 e 2

(1) smea (2) =1 (3) ot (4) ¥R
Which one of the following is a feature of time according to Jainism ?
(1) itisextended (2) itis perceptible

(3) it causes change in things (4) itisindivisible

W g9 B o efoRea 8 | 919 e @1 e 8 7

(1) 98 siRge™ 2 (2) a7 weueRry ¥

(3) 9% =t # oRadH F=ar B (4) T8 oRTS ®

According to Jainism :

(1) jivais sizeless (2) jiva has a fixed size

(3) jiva has changing sizes (4) jiva is of the size of atom
AT T B SER ¢

(1) W9 AHREN & (2) <fe @1 Hif¥eg amer 2
(3) TNT BT APR GRIATA B (4) ST REY] JEHR 2
Mahavira is :

(1) first tirthankara (2) 23rd tirthankara

(3) 24thtirthankara (4) 2nd tirthankara

TEER &

(1) v Hefex (2) 234 defex

(3) 244 Mefav @) o defaw

(13) P.T.O.
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66.

67.

68.

e9.

70.

71.

Vaibhasika school of Buddhism belongs to :

(1) Mahayana school (2) Hinayana school

(3) both Mahayana and Hinayana {4) neither Hinayana nor Mahayana
g o T Wit dve e Haltrr § ?

(1) WeR Huery (2) STEF HuEH

(3) wEwE en fE S (4) ¥ T, T T
Gautam Buddha initiated dharma-cakra-pravartana at :

(1) Bodha gaya (2) Kushinagar (3) Sarnath {4) Vaishali
oW g€ o g9-um waa fhar o -

(1) SRT T A (2) TR F (3) WA H (4) Semenr A

Which one of the following is not included in the Trinity of Christianity ?

(1} God, the father (2) God, the Son
(3) God, the Holy Spirit (4) God, the Pope
=8 o Y B A Freafofaa 4 @ o ol 98 2 2
(1) TR (2) REEARYH

(3) ufe= ST (4) 99

'The Kingdom of Heaven' is associated with ?

(1) Christianity (2) Islam (3) Judaism (4) Shinotoism
T BT IS B IR A weeR 2 7

(1) g e (2) T o (3) TED &F 4) Ry o

The place where the Muslims go to perform Haj is :

(1) Madina (2) Mecca (3) Cairo (4) Tehran
T 9 W TG TS P N E, T§ ©

(1) AT - (2) AFm (3) F (4) T
Zakat in Islam means :

(1) fasting (2) praying

(3) to give a part of one's income (4) to take interest

T # JoT o ¢

(1) SYgrt B (2) wrfAT HRAT

(3) 3R AT T S TR M AR (4) &St o
(14}
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Islam generally permits ?
(1) onemarriage (2) three marriages (3) four marriages (4) five marriages

T AT e et & agEfy s g 7

1) @ (2) (3) @R @) dfa
Which one of the following is the most important feature of Islam ?

(1) polygamy ' (2} brotherhood

(3) conversion (4) opposition to image worship
Freafead # & SW-91 350 BT we AETqUl T § 7

(1) sgfars (2) =g

(3) w¥uRedd (@) figeT @ ke

Kayamat in Islam means :

(1) rebirth (2) pity on others

(3) great tragedy (4) day of judgment

T A Bawa o1 5 ¢

(1) gast= (2) TERI O I

(3) w8 fuRy (4) =arg-faw

Imam Hussain was killed at :

(1) Kaba (2) Karbala (3) Madina (4) Jerusalam
TR B9 AR T o ¢

(1) @@ F (2) wda d (3) 5 # @) S=9an A
Imam Hussain belongs to :

(1) Shiya sect (2) Sunni sect (3) Murji sect {(4) Sufisect
T O T 6 wuE 9 Hey & 7

(1) R (2) g (3) T (4) o
Which one of the following is not correct about Judaism ?

(1) monotheism (2} Zehova as God

(3} ten commandments (4) polytheism

IEE W g § Fefafen & 9 o ad 78 e

(1) yovaRarE (2) ¥R @ BT ¥ oEE

(3) T ARY (4) PHTIRATE

(15) P.T.O.
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78.

79.

80.

81.

82.

83.

Ahurmazada as God is accepted in :

(1) Islam (2) Taoism (3} Zoroastrianism (4) Judaism
FGAET B 5TR B w9 # 59 vy F Wor fear w2 v

(1) T (2) i (3) IR OB
The concept of 'Teh' is associated with :

(1) Taoism (2) Shintoism (3) Christianity  (4) Zoroastrianism
T B AR R o | Eft 2

(1) s (2) Ry (3) dug @) I
The author of 'Synthesis of Yoga'is :

(1) Radhakrishnan (2) Sri Aurobindo (3) Gandhi (4) Tagore
Ry lfF a9 @ 39T B

(1) TEHwE (2) =i aRfe< (3) e 4) TR
The concept of 'integral yoga' has been given by :

(1) Sri Aurobindo (2) Gandhi

(3) Raman Maharshi (4) Tagore

|HY AT Y eren e & # -

(1) # arfo=g (2) TiRfY

(3) ¥ #sfy @) SR

According to Sri Aurobindo the world is :

(1) real (2) unreal

(3) illusory (4) neither real nor unreal
2RI & FgER S P

(1) = (2) &g

@) ¥ () 7 W T I

Which one of the following vedic gods is called the preserver of moral law ?

(1) Indra (2) Varuna (3) Visnu (4) Surya
ffoRea 3fde Saamelt 3 o fhw Afve fam &1 TR w1 79 8
1) = (2) T (3) fawy @

(18)
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Which one of the vedic gods is supposed to be the god of war ?

(1) Rudra (2) Varuna

(3) Indra (4) Ashwani Kumar
frrfaRaa e Jaawrl # @ 5 g8 & Taen w9 o & 7
(1) &% (2) T®9T

(3) % (4) smE AR

Which one of the following is the correct order of the four sambhitas ?
(1) Rigveda, Yajurveda, Samaveda, Atharvaveda
(2) Rigveda, Atharvaveda, Yajurveda, Samaveda
(3) Rigveda, Samaveda, Yajurveda, Atharvaveda
(4) Rigveda, Yajurveda, Atharvaveda, Samaveda

IR el & w9 FH w T 7
(1) e, IgdE, IIE, FUdaS (2) Frae, FddE, AdE, WHAR
(3) =T, M4, IoaT, AT (4) 7T, T9[dE, YIS, AHTAG

Bhutayajna in Hinduism means :

(1) to please the unearthly powers like bhuta, preta etc

(2) to pleasure the assistants of God Siva

(8) to satisfy the physical elements like fire and clouds etc

(4) to satisfy the cow and dog etc by offering them food and water
o5 o % oaw o1 o ©

(1) ¥a. ¥ oNfe gedt & o afderal & 8= BT

(2) e R & O @ \gT BT

(3) =i\, grea oy «ifd® awal & AT B

(4) T, T AME DI Ao, TE e GPE G

The author of Ramayana is:

(1) Tulsidas (2) Valmiki (3) Vasistha (4) Visvamitra
AV B OGS B

(1) geie™ (2) aTHI® (3) aRkrs @) Rwf
The author of Mahabharat is :

(1) Vidura (2) Krishna (3) Vyasa (4) Narayana
HEMRT & oy &

(1) gy (2) o (3) =< (4) AIRTYYY

(17) P.T.O.
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89.

90.

91.

92.

93.

Rama and Laxman went to kill the demons with :

(1) Viswamitra {2) Vasistha (3) Parasurama  (4) Jabali
T AR weoT el WY AR frae W T 9

(1) It (2) oftrs (3) TR (@) Sat
Which one of the following is correctly matched ?

(1) arhat - mahayana (2) bodhisattva - hinayana

(3) mimamsa - apurva (4) nyaya - mahakaruna
PorferRae ¥ & B gl & 7

(1) = - 9gmH (2) SR - S9aH

(3) i - Srgd (4) =T - BRIV

It has been presupposed in varna-vyvastha that a man will have a life of :
(1) 75years (2) 80years (3) 100 years (4) 120 years
gl sy o ¥g A RO € & wfim @ Sftes e

(1) 75981 & (2) 80 ST @ (3) 100 a8t & (4) 1203t @

Which one of the following statements is true according to Hinduism ?

(1) dharma, artha and kama are the only purusarthas

(2) each is independent of the other

(3) kama is the final purusartha

(4) artha and kama are guided by dharma

fig o @ orjuR RreRies Bt 4 @ B9 wE 7

(1) deci vd, Fd Qe v IR B (2) YRS TOVRI UF TR G W[aA o
(3) &M i gowed & (4) 3rd TT B g FRT SRR &

Evil is considered to be a problem in the Philosophy of religion because :
(1) it makes people suffer

(2) it comes unannounced

(3) it exists in a world created by God

(4) it makes good people suffer

¥ I H STYW B GERN AE T S i
(1) 95 At B gl e ¥ (2) 7% &1 gOR omen ®
(3) % 3R g o A R (4) I% =S AN B G FRAT 8§

(18)
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The concept of 'original sin' is associated with :

(1) Christianity (2) Islam (3) Buddhism (4) Taoism
T W B R e o | wafdw ©

(1) $9 (2) FwI™ 3 9= (4) T
The path of liberation according Vaisnavism is :

(1) knowledge (2) action (3) devotion (4) yoga
IS T B FHAR AT FT A1 F

D =m (2) = (3) wfam (4) @

Which one of the following schools accepts the doctrine of rebirth but not the
doctrine of eternal soul ?

(1) Jainism (2) Buddhism (3) Nyaya (4) Carvaka
FrafeReg & @ o9 gaow @1 Rgla w2 fowg P s &1 Regla 78
AT ¢

(1) s (2) 4= (3) ~g (4) @rETS

Which one of the following has advanced the moral argument for the existence
of God ?

(1) Descartes (2) St. Anselm (3) Aristotle (4) Kant
Prefor % @ Ry SvR B W B Forg A g R @ ?

(1) 3R (2) da e (3) IR\ 4) &ic
The view that God is the world and the world is God - is known as :

(1) pantheism (2) theism

(3) deism | (4) polytheism

T8 7 5 ST O & e P ¥R B, R AW @ o S © 7

(1) FdvaRaE () $TaRag

(3) duer Aficizavarg (@) sFPTERAR

Which one of the following cannot be attributed to the God of Deism ?
(1) determinate  (2) personal (3) immanent (4) transcendent
Frafaleg 9 3 Y Sga PfReRTR @ TR @ T 787 g 57 w@ar ?
(1) =Tor (2) Aufre (3) favgardt (4) Reada

Which one of the following believes that God is immanent in the world as well
as transcedent to the world ?

(1) pantheism (2) theism (3) deism (4) atheism
(19) P.T.O.
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101.

102.

103.

104.

105.

106.

(1) |dvTRa™
(3) daa [icwaaE

Ideas according to Plato are :
(1) one (2) many
@CY T IR TG B

1) % @) @

According to Plato :

(1) ideas depend on objects
(3) objects depend on ideas
e B AR -

(1) e uerdt o ik
(3) wer weaEl Rk §

(2) Seavare
@) AR
(3) inhumanmind (4) imaginary

@) I BHAH  (4) B

(2) ideas and objects are independen
(4) both reside in God's mind

(2) 9T Tl 9 wWad &
(4 S ST B AT H

The concept of ‘unmoved mover' is associated with :

(1) Plato (2) Socrates
I ATAD B} IR HERd © ¢
(1) =er 9 (2) govm |

According to Aristotle :

(1) form and matter are independent
(3) matter is prior to form

IRE] B IR

(1) PR T & wEH 3

(3) ¥ APR F Yaae 8

(3) Spinoza (4) Aristotle

(3) Ramren & (4) sRE A

(2) formis prior to matter
(4) both are co-existent

(2) STHR FF BT @Al §
(4) = weeRaaas 8

According to Descartes the knowledge that ' think therefore I am' is :

(1} deductive (2) inductive

(3) self-evident (4) aguess

3P B orgER ¥ |raar § sl ¥ € -ww I R

(1) v (2) STTATE

(3) g 4) TP 3=

According to Descartes mind and body are :

(1) relative substances

{3) modes of substance

IPRI B AR FF TAT IWR 2
(1) wmveEr S 2) iy T

(20}

(2) absolute substances
(4) attributes of substance

(3) = 3 W @) ¥/ & T
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According to Descartes the world is real because :

(1) thereis a good God who does not deceive us in our perception
{2) the world is a creation of human mind

(3) the world exists in God's mind

(4) the world is so that we can never have any illusion

SHR B AR W aRIfIs & 79I

(1) T 301 %R & W SR TRae! 3 BN drar 8 Qe

(2) S AEdE W @ g @

(3) S SYR B WA H B

(@) s ar & v B ww =S 8 wea

Which one of the following is not held by Descartes ?

(1) dualism (2) monism (3) interactionism (4) theism
frafoReg & & oy Sord 78 e 2
(1) Eearg (2) T (3) fFramfaforae (1) $vavears

According to Spinoza :

(1) substance has only two attributes

(2) substance has only one attributes

(3) substance has only two known attributes
(4) substance has no real attributes

Rgaren & IR

(1) 5 % 399 a1 o7 & () 3 # D97 B [T T
(3) ¥ ¥ DI 3 T 0T § (4) s ¥ grafds o 8
God according to épinoza is:

(1) impersonal (2} personal

(3) transcedent (4) object of worship

Rg=en & orgaR deR 2

(1) Frafrs 2) fme (3) fawaria (4) o0 &1 9wy
Who is said to be the 'God intoxicated’ philosopher ?

(1) Descartes (2) Spinoza (3} Leibnitz (4) Plato
YR TRIFS {59 e o

(1) <& (2) o= (3) aEfees (4) w@er

(21) P.T.0.
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112. The concept of 'intellectual love of God' is associated with :

(1) Plato (2) Aristotle (3) Descartes (4) Spinoza
TR & Wiy HfEe U B sEunen ey deg 2 -
(1) wiey (2) 3R¥, (3) TRt (@) Rosrn

113. Which one of the following is true of Spinoza ?
(1) God creates the world
(2) God creates the world in time
(3) World is not created
(4) World is created by God for the welfare of man
R @ Jey 3 Frafofyg ¥ @ S 9@ a2 ?
(1) ¥R S P W IR &
(2) $¥R Pre B STt ST A T PR ?
(3) TR @ AT A BRD
(4) TR T P T AEE-HET B o b &

114.  Which one of the following holds that the defining characteristic of substance is
force or consciousness ?

(1) Leibnitz (2) Spinoza (3) Descartes {4 Locke

frefofes § & 99 97 § & so0 =1 uRae oo wida W A 2 7

(1) emsfeey (2) R (@) d@ (4) @f®
115. Leibnitz's philosophy is :

(1) monistic (2) dualistic (3) pluralistic (4) non-dualistic

AT &1 qH @

(1) wepeTaard] (2) aqard (3) sgardY (4) ez
116. Which one of the following is not held by Leibnitz ?

(1) monads are active {2) no two monads are alike

(3) monads influence each other (4) monads are windowless

Ry & @ #19-w1 agferes a1 v 7@ & ?

(1) TR afra € (2) = Fogfasg o @ 2

(3) Rgfeg to g 3 il axa & (4) Pl mamda 2

117.  This is the best of all possible worlds — this view is held by :
(1) Aristotle (2) Descartes (3) Spinoza {4) Leibnitz
(22)
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a8 HOR 99 I9g ORI ¥ vary & — I8 99 e 2

(1) R¥] (2) e (3) Retram (4) wsfees
Mind is a clean state — this view is held by :

(1) Descartes (2) Spinoza (3) Leibnitz (4) Locke
T B Ued ¥ — I8 Wg e £

(1) I@rt (2) R (3) “mEfetew (4) s
Mind according to Locke is :

(1) both active and passive (2) neither active nor passive

(3) passive only (4) active only

df & FTHR 77 &

(1) wfpg T Fitsa <At () = |f¥g, 7 PAftsa

(3) daa Ffepa (4) ®adA Afhy

The ideas of pleasure and pain according to Locke are received through :
(1) both sensation and reflection (2) reflection only

(3) sensation only (4) intuition

A B AR Y@ T @ B I W B 8

(1) e @ srgfeas A 9 (2) @l sgfiaT |

(3) Had €5 | (4) wfg 59 |

According to Locke we have self-evident knowledge of :

(1) self (2) substance (3) causality (4) other bodies
AP B ATAR 59 Teg T B B

(1) TS FT (2) =8 T (3) PRV &7 (4) 3 IRRT &7
Beauty according to Locke is : _

(1) asimple idea (2) acomplex idea of modes

(3) a complex idea of substances (4) a complex ides of relations
P D AR Wil ¥

(1) % a1 57 (2) wgtal @1 wfea v

(3) = P AR =Y (4) el o1 AR Fed
Berkeley is :

(1) objective idealist (2) subjective idealist

(3) empirical idealist (4) transcendental idealist

(23) P.T.O.
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125.

126.

127.

128.

I 2

(1) TSI wearay (2) Ty

(3) sheargafas seraard (4) STwaRi Sarl
Berkeley rejects the doctrine of abstract ideas because :

(1) it leads to spiritualism (2) itleads to empiricism

(3) it leads to idealism (4) itleads to atheism

Il I T @ TG a1 WA B & R

(1) SO SIS II~ &Kl 3 (2) SUH IJIWAAE I BT ©
(3) SEY TIAIE S BT ® (4) SO fFilvaRaE S~ B &
Which one of the following is not rejected by Berkeley ?

(1) unperceived ideas (2) matter

(3) secondary qualities (4) primary qualities
ffaRaa A 9 feaer Tsw soha 787 ovar ?

(1) oret g (2) STsovd (3) T 1T @) ™™

Which one of the following is true according to Berkeley ?

(1) fire and warmth are themselves related

(2) fire is the cause of warmth

(3) we perceive the relation between fire and warmth

(4) God has connected the idea of fire with the idea of warmth
FEA B IR FfaRea S F o w2 ?

(1) 2w &R T oe ey wefew

(2) 3T TR BT HROT ©

(3) = T AR W w1 Ty Iwd

(4) TR 7 I D TIY g T B Wy B Geie fear §

Which one of the following cannot be contradicted according to Hume ?

(1) atriangle has three angles {2) bread nourishes

(3) qualities reside in substances (4) thereis a thinker of thoughts
W @ IJaR fr=ifelea & & st dsa 78 fFar o waa ?

(1). B ¥ = o g & (2) JE | GYeT BT B

(3) T T W B B (4) Rt =1 iarRe =y &
According to Hume our knowledge arises from :

(1) impression (2) ideas

(3) both impressions and ideas (4) innate ideas

(24)
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T P ATAR TART AR T S~ 8l 8 -

(1) SR | (2) vt ¥

(3) TR e ydl a9 o (4) SR wIdl |
According to Hume :

(1) impressions are copies of ideas (2) ideas are copies of impressions
(3) both are independent (4) both have their source in soul
T B AR

(1) FpR et B uiafry & (2) T AR @ ety €
(3) <+ waT & (4) TE WG A B
According to Kant space and time are :

(1) independent things (2) qualities of things

(3) relations of things (4) forms of human sensibility
FHI0E & JPAR faF A B 8

(1) o= vt (2) Twgelt & o

(3) TS & Ha (4) "R FAST B STER

The number of categories of understanding according Kant is :

{1) six (2) eight (3) sixteen (4) twelve
FIUC B AR Yy B BT B TR T

(1) = (2) 3o (3) |reE (4) IRT
According to Kant we have necessary and universal knowledge of :

(1) natural world (2) god

(3) soul (4) totality of the world

B B ofER & e afverd qur wEWE s B €

(1) WBlas S B (2) $=R BT

(3) I BT (4) |l s # S

According to Kant, the knowledge in which cause and effect are necessarily
related is :

(1) empirical (2) apriori (3) analytic {4) probable
HvC B AR PR FT FH AfFaRi: wEET ¥ - I€ 9 8
(1) srarfde () wmgElde () femwmEs (4) SN

(25) PT.C.
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Kant's philosophy is :

(1) empirical idealism (2) transcendental realism

(3) empirical realism (4) problematic idealism

FIE HT CUA T

(1) skTale weaE (2) SrgHARiT TRIATR

(3) sftoarufas swgae (4) T qTFAE

According to Hegel : _

(1) thought conceals reality (2) thought distorts reality

(3) thought and reality are separate  (4) thought reveals reality

A D SRR

(1) far wq @1 foumm & (2) IR wq & RBeg F=ar 8
(3) feR wen o< 9w 2 (4) faoR wq &7 Sgued or §
Which one of the following is not correctly matched ?

(1) Locke - representation (2) Leibnitz - monism

(3) Kant - agnosticism (4) Hegel - object idealism
Prefoftes & B g TE R 7

(1) @fe - affEras (2) @Efeey - (@

(3) BT - IRTIY (4) BT - TRETT FeIIATE

The laws of logic and the laws of reality are the same - this view is held by :
(1) Hegel (2) Kant (3) Hume (4) Descartes
THTES AT W @ (99 T & - U8 A {hawT § ?

(1) e @2) Frve (3) T (4) <o

Which one of the following is the object of moral judgement ?
(1) actions of all beings
(2) all the actions of human beings
(3) actions of free and normal human beings
(4) all natural events
f=fafen & o AR Fvlg & fowg s g ?
(1) =i mifrst & wrd
@) = S W e
(3) TOA T AR AgSEl B B
@) R yeie TeR
(26)
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Which one of the following is refined egoistic hedonistic ?

(1) Bentham (2) Mill (3) Aristippus (4) Epicurus
PrefoRa & ¥ 27 TRepa wamiRe GEad & ?
(1) e (2) e (3) IR=uH (4) Ry

Which one of the following is notf included in the hedonistic calculus of
Bentham ?

(1) quantity (2) extension (3) purity (4) intensity
Tem B FEard! dod # fefafed § & oF wefed T8 8 7

(1) A= (2) =R (3) g&ar (4) e
According to Bentham pleasures are :

(1) different in quality (2) different in quantity

(3) different in both (4) different in neither

T W AER g9 B ¥

(1) TS wY | A (2) IETHE ©Y ¥ A=

(3) <=1 wuf 7 @) & w9 # fir 181
Paradox of hedonism was pointed out by :

(1) Sidgwick (2) Mill (3) Bentham (4) Kant
gEaE @ fRar e e 3R foar o

(1) frafas (2) faa (3) wore &) FT
What according to Bentham leads man from egoism to altruism ?

(1) moral sense (2) sense of human dignity

(3) external sanctions of morality (4) reasons

e B IAR A BT WRfa W WRRER 3 3R o W €

(1) Afdw e (2) wEE IR & 9

(3) AferaeT & IMET SAHe @) THeE

According to Mill pleasure is desirable because :

(1) human reason demands it (2) divinity in- man demands it
(3) itis the natural desire of man (4) it leads to perfection

e & sFwR g9 IoA 8 99l ¢

(1) 98 w9 gfg & 9 8 (2) 98 W= § PfRka Ragar & df7 2
(3) ¥T T B WHRE 3T T (4) 95 O B R PRI T

(27) P.T.O.
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Goodwill according to Kant is :

(1) complete good (2) empirical good

(3) instrumental good (4) unconditioned good
PV T ATIR YW GFH B

(1) St gw (2) Sfeargatam g

(3) WS P 4) Frenfie

Which one of the following is not a feature of moral law according to Kant ?
(1) regorism (2) apriorism (3) utility (4) formalism
B B AR F=foled 4 & s-ar RF Frow &1 weyor 787 2 2

(1) FIRAEE (2) wrrHldwaRe  (3) SUgrEr (4) STPHIRBAT

Which one of the following deduces moral laws from biological laws ?

(1) Spencer (2) Kant (3) Mill (4) Butler
e # 9 o R Aot 51 e o @ PBafg sxar g ?

(1) | (2) Fe (3) e (@) Teer
Which one of the following is an evolutionary hedonist ? |

(1) Kant (2) Stephen (3) Martineau (4) Butler
Frefaam # & B RerawRe TEaE 2 ?

(1) 3¢ (2) W (3) wfEa (4) JER
Which one of the following is associated with the ethics of self-realization ?
(1) Hegel (2) Kant (3) Butler (4) Epicurus
Frfofa § 9 B9 So-aRIER 3 ke ¥ Sate ® 7

ORUE (2) ®re (3) FTeR CYREIEEN
The concept of superman is associated with :

(1) Hegel (2) Bradley (3) Butler (4) Nietzsche
(1) s (2) Feat (3) FeeR @ e

(28)
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7 gfiaet e $ 10 e 3 o & 31 o 15 weaw o o g disg 2 ok #
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ST v I |
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STFERT W 7 VAT ST SR |

. T-GRAPT H TRE U B N dofeud oW RA M ¥ | qE 5 @ dwfoys vV @

ford eyt See-uF B GHAAT gfew B G Y T4 I B 9UR-9F & HUT YO I
3 & et & sgar U o WeT I B

. WP T @ BOR B Y Bad TH & g Y Ml By | Ud | Afw Jl B mer a=A

W AT TH T DT AP AR U IF ITR WA AT SR |

&9 < & 9 Iv it §Rr sfda 9gov gqer @ o7 §ear o/ 3 e Rl g
w1 g 787 @97 grEd € O SR 9w € e R R g 9 e e )
[ ¥ R I S R o

P ® R TW gfe @ YEYs @ s T gw wen oiftht @l T @
g

T B IR DI Ho THo %o FTV-UF & U waw ¥ ¥ Y |
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